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20204810 | F¥S-01-2016{  / 6-9 2 / =80 | & / =15 | 2 / =0.5 | & /
20208 20 | F#S-01-2016]  / 6-9 2 g =80 | &= / =15 | & / =0.5 | & /
202048 830 | F¥S-01-2016 / 6-9 B2 / =30 £ / =15 2 / =0.5 | 2 /
20204E8 A 4H | F¥S-01-2016 / 6-9 2 / =80 | B / =15 | # / =0.5 | & /
20204E8 A58 | FWS-01-2016 & 6-9 B2 2 =80 = ¥ =15 = £ =0.5 | & /
20204E8 A6 H | FWS-01-2016 / 6-9 B / =80 7 / =15 2 / =0.5 | & /
2020428 578 | FWS-01-2016| 7.1 6-9 7 3. 48 =80 7 | 6.485 =15 £ | 0.063 =0.5 | & | #Hk
20202E8 H8H | FWS-01-2016| 7.24 6-9 2 2.38 =80 = 6. 66 =15 I 0.11 =0.5 | & | sH1K
20204E8 498 | FWS-01-2016| 7.15 6-9 = 2.57 =80 B | 5.525 =15 2 | 0.106 =0.5 | & | S
20204E8 H 10H | FWS-01-2016 | 7.19 6-9 2 15. 38 =80 £ | 1631 =15 2 | 0.421 =0.5 | £ | SH1IK
20204E8 B 11H | F¥S-01-2016] 7. 36 6-9 = 292. 34 =80 = 1.577 =15 7= 0.4 =0.5 7 | shELX
20204E8 A 12H | FWs-01-2016 | 7.11 6-9 B 21.73 =80 B | 4.021 =15 2 | 0.442 =0.5 | £ |sX
20204E8 H 13H | FWS-01-2016| 7.24 6-9 = 16. 51 =80 2 | 6.253 =15 2 | 0.264 =0.5 | & |SHEK
202048 5 14H | F¥S-01-2016 / 6-9 = / =80 = / =15 = / =0.5 = /
20204E8 B 15H | FWS-01-2016 / 6-9 = / =80 & / =15 = / =0.5 = /
202048 A 16 H | FWS-01-2016 / 6-9 = / =80 = / =15 = / =0.5 = 7
20204E8H 178 | FWS-01-2016| 7.09 6-9 3 18. 63 =80 2 | 3.742 =15 2 | 0.377 =0.5 | & | 4H1x
20204E8 A 18 H | FWS-01-2016 / 6-9 = 4 =80 = / =15 = / =0.5 = /
20204E8 5 19H | FWS-01-2016] 7.15 6-9 = 29. 85 =80 = 4.018 =15 Ji 0. 306 =0.5 5= | shEL
20204E8 A20H | F¥S-01-2016 ¥ 6-9 = F =30 = / =15 & f =0.5 = /
20204E8 A 21 H | FWS-01-2016 7 6-9 B / =30 B / =15 B 7 =0.5 | & 7
20204E8 A 22H | FWS-01-2016 / 6-9 . ¥ =80 | #& / =15 | & / =0.5 | #& /




